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tflearn import issue #1172

- krinali1901 opened this issue on Jun 11 - 5 comments

krinali1901 commented on Jun 11

Hello,

| am trying to run a code using tflearn. But even if i just try to import tflearn then it gives the below error
WARNING:tensorflow:From /Library/Frameworks/Pythan.framework/Versions/3.10/lib/python3.10/site-
packages/tensorflow/python/compat/v2_compat.py:107: disable_resource_variables (from tensorflow.python.ops.variable_scope) is
deprecated and will be removed in a future version.

Instructions for updating:

non-resource variables are not supported in the long term

mportError; cannot import name 'is_sequence' from ‘tensorflow.python.util.nest’
(/Library/Frameworks/Python.framework/Versions/3.10/lib/python3.10/site-packages/tensorflow/python/util/nest.py)

What can be done to resolve this?




MihaMarkic commented on Jul 27

And as expected, is_sequence is imported in tflearn/layers/recurrent.py file.

@ MihaMarkic commented on Jul 27

Created a PR

awsumbill commented on Aug 24

In the meantime you can — to get around this untill it's fixed

o




[2]

1 import keras

2 from keras.models import Sequential

3 from keras.layers import Dense, Dropout, Flatten, ConvZD, MaxPooling2D

4 from keras.layers import BatchNormalization

1 'pip install tensorflow==2.12
Requirement already satisfied: tensorflow==2.12 in /usr/local/lib/python3. 10/dist—packages (2.12.0)
Requirement already satisfied: absl-py>=1.0.0 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (1.4.0)
Requirement already satisfied: astunparse>=1.6.0 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (1.6.3)
Requirement already satisfied: flatbuffers>=2.0 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (23.5. 26)
Requirement already satisfied: gast<=0.4.0,>=0.2.1 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (0.4.0)
Requirement already satisfied: google—pasta>=0.1.1 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (0. 2.0)
Requirement already satisfied: grpcio<2.0, >=1.24.3 in fusr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (1.59.3)
Requirement already satisfied: hbpy>=2.9.0 in /usr/local/lib/python3. 10/dist-packages (from tensorflow—2.12) (3.9.0)
Requirement already satisfied: jax>=0.3.15 in /usr/local/lib/python3. 10/dist-packages (from tensorflow=—=2.12) (0. 4. 20)
Requirement already satisfied: keras<2.13, >=2.12.0 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (2.12.0)
Requirement already satisfied: libclang>=13.0.0 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (16.0.6)
Requirement already satisfied: numpy<l. 24, >=1.22 in /usr/local/lib/python3. 10/dist—packages (from tensorflow==2.12) (1.23.5)



o 1 'pip install tflearn

@ Requirement already satisfied:
Requirement already satisfied:
Requirement already satisfied:
Requirement already satisfied:

v Load and preprocess data

tflearn in /usr/local/lib/pythe
numpy in /usr/local/lib/python:
six in /usr/local/lib/python3. :
Pillow in /usr/local/lib/pythor

[4] 1 import tflearn.datasets.oxflowerl? as oxflowerl7
2 X, Y = oxflowerl7.load data(one hot=True)

WARNING: tensorflow:From /usr/local/lib/python3. 10/dist—package

Instructions for updating:

non-resource variables are not supported in the long term



¥ MihaMarkic / tflearn (Public )

forked from tflearn/tflearn

<> code I Pullrequests () Actions [ Projects ) Security |~ Insights

[ ¥ 6472b8588e ~ ] ¥ 10 branches ) 8 tags Go to file

Local ‘ Codespaces
m MihaMarkic Replaces is_sequence() with is_sequence_or_compaosite()
eteletetete! _ () Clone
LI BB docs Extract method from duplicate
DOUOOOOOO
SN .
. . HTTPS GitHub CLI
B examples Fix syntax warning over compa
B tests Fixes for 0.5.0 (tflearn#1158) | https://github.com/MihaMarkic/tflearn._git
BB tflearn Replaces is_sequence() with is Use Git or checkout with SVN using the web URL.
tutorials Update quickstart. md (tflearn# . .
ta - E ( CY) open with GitHub Desktop
[ .gitignore add pytest cov for test coverag
. . Download ZIP
[ -travisyml fix bug H
D ACKNOWLEDGMENTS [WIP] new estimators (tflearn#994) 6 years ago




#E B IE (exploding gradients)
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ok IE#AA (batch normalization)
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model. compile (

Adam

Sy A1 = I D

)

print ( Loss functionfZf{’ )

loss= categorical_crossentropy ,
optimizer= adam ,
metrics=[ accuracy ]

=i

e Addam &3I#k4% 2% e 2 E1E

-—J &

e Adam #¥ 7 Momentum ¥ 38 4 5 8y 7 5 485 %
FAEEAdam¥$® L4 EW-F 5 E#learning ratesy
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4By & MRconvolution
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« SN E & A —BH L HEEE (convolutional
layer) #4848
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 TE & FMP B EEAFEI (feature
extraction)




A# A Z (convolutional kernel)

A B 10.1:=5FERE (EB) —RHREIEF=LAE A, LM, BEETRERNLT S
BT A ME - Bak (THE) NEFRIAELN, GRRREELIERRA LAHSE, K% 1
FIFRIa e A imEl A, AR N —FILIRG DT N EE TR, BEA PARKITEBREA T




L ©

1  model. summary () output: | [(None, 28,

Model: “sequential”

Layer (type) Output Shape Param &
= = = = comv2d 1
conv2d (Conv2D) (None, 26, 26, 32) 320
conv2d_1 (Conv2D) (None, 24, 24, 64) 18496 ax_pooling2d | input: | (None, 24, 24, 64)
Dl]']_:ll.“': L .
max_pooling?d (MaxPooling? (None, 12, 12, 64) 0

dropout (Dropout) (None, 12, 12, 64) 0
flatten (Flatten) (None, 9216) 0
d D None, 128 1179776 (None, 9216)
ense (Dense) (None ) e
dropout_1 (Dropout) (None, 128) 0

drnpn::ut_“l_ (MNone, 128)
dense 1 (Dense) (None, 64) 8256 Dropott (Rore, 129)

= (e, 125

_
201458 (hoo

dense 2 (Dense) (None, 10)

Total params:
Trainable params: 1207498 (4.61 MB)




LeNet: By Cmglee - Own work, CC BY-SA 4.0,
https://commons.wikimedia.org/w/index.php?c
urid=104937230 eNe

~ Image: 28 (height) x 28 (width) x 1 (channel) |

Convolution with 5x5 ke;nel+2 padding:28x28x6
. sigmoid
‘ Pool with 2x2 average kernel+2 stride: 14x14x6 ‘

v Sigmoid
[ Pool with 2x2 average kernel+2 stride: 5x5x16 \
Vv flatten

Dense: 120 fully connected neurons

\y sigmoid

[ Dense: 84 fully connected neurons

., sigmoid

l Dense: 10 fully cqnnected neurons

Qutput: 1 01: 10 classes
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int main()
Btry

cout << "SEHEAEHFE!\n";
Mat x = imread("123.jpg"), 1m, i1m?;

imshow("[FE", x);

Mat kO = II:'-]E:_'ii.:-_;:_'-_E}EE'_. 3I 4 111241121}
10 = k0 / 16.0;
kernel(x, im, k0, "=HriEHE").




int main(}
Eltry

cout << "EEEIESEE\n";
Mat x = imread("123.jpe"), im, im?;

imshow("EE", x);

Mat k0 = (Mat _<doublex>(3, 3) =< 1,2,1,2,4,2,1,2.1);
K =%x0/ 16.0;
kernel(z, im, k0, "SHEHE");

Mat kl = (Mat_<double>(3,
kermel(x, im, k1, "Lapla




int main()
Etry

cout << "EHEEIEHEE\n";
Mat x = imread("123.jpg"), 1m, 1m2;

imshow("EE", x);

Mat k0 = (Mat_<doublex>(3, 3) =« 1,2,1,2.4,2,1.,2,1);
K0 =k0 f 16.0;
kernel(x, im, kK0, "SErEE");

Mat k1l = (Mat_<double>(3, 3) << 0, -1, 0, -1, 4, -1, 0, -1, 0);
kermel(x, im, k1, "LaplaciEiE");

Mat k2 = (Mat_<double>(3, 3) «< 0, -1, 0, -1, 5, -1, 0, -1, 0);
kernel(x, im, k2, "LaplacgF[");

Mat k3 = (Mat_<double>(3, 3) <« -1, -1, -
kernel(x, im, k3, "#E&2", 1);

kernel(x, im, k3, "#&22");




Bltry

Mat x =

“ElHE

[ A s

imread("123.ipg").

imshow( "[EE", x);

[T

K =k0 /
kernel(x,

Mat kl =
kernel(x,
Mat k2 =
kernel(x,
Mat k3 =
kernel(x,
kernel(x,

16.0;

im, k0, °

(Mat_<doub
"Laplacs

im, k1,

(Mat_<doub

im, k2, °

(Mat_<doub

LET ]
C s

im, k3,
im, k3, °

—
A
"7

"

t kO = (Mat_<double>(3, 3) <«

-k 1

.

BEl7 | == :I_l

le=(3,

i L
==
il
n

vl
:

lex(3,
'Laplacs

lex(3,

Ur s

L

[
[

im, im?;




int main(}

Eltry

cout << "EEAEHEFE \n";

Mat x = imread("123

imshow("EE", x);

Mat k0 = (Mat <doub

) =k0 / 16.0;
kernel(x, im, k0,

Mat k1l = (Mat <dou

kernel(x, im, k1,

Mat k2 = (Mat_<dou

kernel(x, im, k2,

Mat k3 = (Mat_<doubl
kernel(x, im, k3, °
kernel(x, im, k3, "
Mat k4 = (Mat <doub

kernel(x, im, k4,
kernel(x, im, k4,

waitKey(0);
destrovAl IWindows (

return 0;

blex(3, 3) << 0, -1,

blex(3, 3) << 0, -1,

Jpg"), im, im2;

le>(3, 3) << 1,2,1,2,4,2,1,2,1);
"EHTEME")

0, -1,

"Laplaci¥&E");

0.

[, §
I
[a—

-1,
"Laplac&iF");
3, 3) < -1, -1,

blex(3, 3) <
"EA2");
"EF202") 5

};
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« — MBS HA 3 X 3
e K (stride)

e A 1 B 2 B
* 1 (padding)
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EMENE (R — w 41

FrAEIR R (3E) = 28




A8 (pooling layer)
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Herslichen Dank fur die
Aufmerksamkeit



